CARAT

MZBSTRLOOO

Pagina 1

=)

[3a)

=)
¥

REVISIE: 13-5-2022



CARAT

MZBSTRLOOO

Pagina 2

Nr. |Omschrijving Artikelnummer |Nr. |Omschrijving |Artike|nummer
1 HANDVAT LINKSACH- TER XAGTRLO001
2 HANDVAT LINKSVOOR XAGTRLO002
3 HANDVAT RECHTSACH- TER XAGTRLO003
4 HANDVAT RECHTS- VOOR XAGTRLO004
5 SCHROEF M4 x 45 XAGTRLO005
6 SCHROEF M4 x 30 XAGTRLO006
7 SCHROEF M4 x 12 XAGTRLO007
8 INZET STATIEF XAGTRLO008
9 DIEPTEAANPASSING KNOP XAGTRLO009
10 FRAME XAGTRLO010
11 STROOMDRAAD XAGTRLO011
12 MOTOR SCHAKELAAR 220V XAGTRLO012
13 STROOMKABEL XAGTRLO013
14 KABELDOORVOER XAGTRLO014
15 TORSIEVEER XAGTRLO015
16 SCHRANIERPEN XAGTRLO016
17 SCHAKELKAST XAGTRLO017
18 GEINTEGREERD SOC- KET XAGTRLO018
19 SCHARNIERDEKSEL XAGTRLO019
20 VLAKSCHROEVEN XAGTRL0020
21 SCHROEF M3 x 20 XAGTRLO021
22 KAP HP-16 XAGTRL0022
23 SCHROEF M8 x 16 XAGTRL0023
24 VEERRING M8 XAGTRL0024
25 WIELEN XAGTRLO025
26 MOER M8 XAGTRL0026
27 PIN @3 X 14 XAGTRLO027
28 ZESKANT HOES XAGTRL0028
29

30

32 MOERSLEUTEL M16 XAGTRLO032
33 TIE WRAPS XAGTRLO033
34 SPACER 2 MM XAGBS20000
35 SPACER 3 MM XAGBS30000
36 SPACER 4 MM XAGTLR0O036
37 VEER XAGTLROO037
38 PLUNJER XAGTRLO038
39 WATERPAS XAGTRLO039
40 BOUT M10 XAGTRLO040

REVISIE: 13-5-2022




